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  x……®……ΔEÚ Roll No. 
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No. of Printed Pages — 7 
=SS… ®……v™… ®…EÚ {…Æ˙“I……, 2015 

SENIOR SECONDARY EXAMINATION, 2015 

V…“¥…  ¥…Y……x… 
BIOLOGY 

∫…®…™… :  3
4

1

 
P…h]‰ı 

{…⁄h……»EÚ : 56 

 
 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ̆∂… : 

 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â* 

  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 2. ∫…¶…“ |…∂x… EÚÆ˙x…‰ + x…¥……™…« ΩĘ̀*  

  All the questions are compulsory.  

 3. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â*  

  Write the answer to each question in the given answer-book 

only.  

 4.  V…x… |…∂x……Â ®…Â +…xi… Æ˙EÚ J…hb˜ ΩÈ˛, =x… ∫…¶…“ E‰Ú =k…Æ˙ BEÚ ∫……l… Ω˛“  ±…J…Â* 

  For questions having more than one part the answers to those 

parts are to be written together in continuity. 
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 5. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ / 

 ¥…Æ˙…‰v……¶……∫… Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ ∫…Ω˛“ ®……x…Â* 

  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 
version should be treated valid. 

 6. J…hb˜ |…∂x… ∫…ΔJ™…… +ΔEÚ |…i™…‰EÚ |…∂x… 

  + 1-13 1 

  §… 14-24 2 

  ∫… 25-27 3 

  n˘ 28-30 4 

  Section Q. Nos. Marks per  
    question 

  A 1-13 1 

  B 14-24 2 

  C 25-27 3 

  D 28-30 4 

 7. |…∂x… GÚ®……ΔEÚ 24, 27, 28, 29 ¥… 30 ®…Â +…Δi… Æ˙EÚ  ¥…EÚ±{… ΩĘ̀* 

  Question Nos. 24, 27, 28, 29 and 30 have internal choices. 

 
J…hb˜ - + 

SECTION - A 

1. {…Æ˙…M…EÚh… ±…®§…‰ ∫…®…™… i…EÚ ∫…ΔÆ˙ I…i… C™……Â Æ˙Ω˛i…‰ ΩĘ̀ ? 

 Why do pollen grains remain preserved for long time ? 1 
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2. ∫]‰ı®… EÚ…‰ ∂…EÚ…Bƒ C™…… ΩĘ̀ ?  

 What are stem cells ? 1 

3. n˘…Δj…EÚ…‰ ∂…EÚ… +Æ˙HÚi…… C™…… ΩË˛ ? 

 What is sickle cell anaemia ? 1 

4. ®…Âb˜±… E‰Ú ∫¥…i…xj… +{…¥™…⁄Ω˛x… E‰Ú  x…™…®… EÚ… +{…¥……n˘ C™…… ΩĘ̈ ?  

 What is the exception to Mendel’s law of independent assortment ? 1 

5. +…x…÷¥…Δ ∂…EÚ +{…¥……Ω˛ EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…™…‰*  

 Define genetic drift. 1 

6. M…‰Ω⁄ƒ˛ EÚ“ {…h…« i…l…… v……Æ˙“- EÚ^ı |… i…Æ˙…‰v…EÚ  EÚ∫®… EÚ… x……®… §…i……<™…‰*  

 Write the name of leaf and strip resistant variety of wheat. 1 

7. {…Ëx…“∫…“±…“x…  EÚ∫… EÚ¥…EÚ ∫…‰ |……{i…  EÚ™…… V……i…… ΩĘ̈ ?  

 Penicillin is obtained from which fungus ? 1 

8. =∫… V…“¥……h…÷V…x™… =i{……n˘ EÚ… x……®… §…i……<™…‰  V…∫…EÚ… ={…™……‰M… "l…CEÚ… ∫°Ú…‰]ıx…' ®…Â Ω˛…‰i…… ΩĘ̈*  

 Give the name of that Bacterial product which is used as a ‘clot 

burster’. 1  

9. n˘…‰ Bhb˜˜…‰x™…⁄ŒC±…BV… BxV……<®……Â E‰Ú x……®…  ±… J…™…‰*  

 Write the names of two endonuclease enzymes. 1 

10. {±……ŒV®…b˜ PBR322 ®…Â {……™…‰ V……x…‰ ¥……±…‰ n˘…‰ |… i…V…Ë ¥…EÚ |… i…Æ˙…‰v…“ V…“x… E‰Ú x……®…  ±… J…™…‰*  

 Write the names of two antibiotic resistant genes found in         

plasmid PBR322. 1 

11. <Δ]ıÆ˙x…‰∂…x…±… ∫…‰x]ıÆ˙ °Ú…ÏÆ˙ ¥Ω˛“]ı (M…‰Ω⁄Δ˛˛) Bhb˜ ®…‰V… (®…CEÚ…) EÚΩ˛…ƒ Œ∫l…i… ΩĘ̈ ?  

 Where is the International Centre for Wheat and Maize situated ? 1 
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12. ¥……™…÷®…hb˜±… ®…Â ={…Œ∫l…i… S……Æ˙ O…“x…Ω˛…>∫… M…Ë∫……Â E‰Ú x……®… n˘“ V…™…‰*  

 Give the names of four greenhouse gases present in the atmosphere. 1 

13. i¥… Æ˙i… ∫…÷{……‰π…h… C™…… ΩĘ̈ ?  

 What is accelerated Eutrophication ? 1 

J…hb˜ - §… 

SECTION - B 

14. +±…È M…EÚ V…x…x… u˘…Æ˙… =i{…z… ∫…Δi… i… EÚ…‰ C±……‰x… C™……Â EÚΩ˛… V…… ∫…EÚi…… ΩĘ̈ ? EÚ…Æ˙h… n˘“ V…™…‰*  

 Why can an offspring produced by asexual reproduction be called as a 

clone ? Give reasons.  2 

15. ™… n˘ BEÚ ∂…÷GÚ…h…÷ EÚ… +O…À{…b˜EÚ (BGÚ…‰∫……‰®…) I… i…O…∫i… Ω˛…‰ V……i…… ΩË˛ i……‰, <∫…∫…‰ EÚ…Ëx…∫…“  GÚ™…… 

|…¶…… ¥…i… Ω˛…‰M…“ +…ËÆ˙ EËÚ∫…‰ ? 

 If acrosome of a sperm is damaged then which process will be affected 

and how ?  2 

16. +…{… §…xv™… nΔ̆®{… k…+…Â EÚ…‰ ∫…xi……x… ∫…÷J… |……{i… EÚÆ˙x…‰ Ω‰̨i…÷ EÚ…Ëx… ∫…‰ ∫…÷Z……¥… n‰˘x…… = S…i… ∫…®…Z…ÂM…‰ ?  

 What suggestions will you give to infertile couples to produce 

children ? 2  

17. ®…Ø˚∫l…±… ®…Â  x…¥……∫… EÚÆ˙x…‰ ¥……±…‰ V…xi…÷+…Â E‰Ú S……Æ˙ +x…÷E⁄Ú±…x… n˘“ V…™…‰* 

 Give four adaptations found in animals of arid region. 2 

18. +hb‰˜ n‰˘x…‰ Ω‰˛i…÷ §…Æ«˙ ={…™…÷HÚ ∫l…±… E‰Ú  ±…B +ΔV…“Æ˙ E‰Ú {…÷π{…GÚ®… EÚ…‰ {…∫…xn˘ EÚÆ˙i…“ ΩĘ̈* EÚ…Æ˙h… 

∫… Ω˛i… ∫…®…Z……<™…‰* 

 Wasp prefers inflorescence of fig tree for laying its eggs. Explain giving 

reasons.  2 

19. +…{… V…“¥…  ¥…Y……x… E‰Ú UÙ…j… Ω˛…‰x…‰ E‰Ú EÚ…Æ˙h…  EÚ∫……x……Â EÚ…‰ EËÚ∫…‰ ∫…®…Z……™…ÂM…‰  EÚ ®…v…÷®…CJ…“ {……±…x… 

=x…E‰Ú  ±…B +…∫……x… B¥…Δ +…Ãl…EÚ o˘Œπ]ı ∫…‰ ±……¶…n˘…™…EÚ ΩĘ̈ ? 

 As a student of Biology how will you explain to farmers that           

Bee-keeping is simple and economically beneficial for them ? 2 
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20. ™… n˘ ¥…… Ω˛i… ®…±… ∫…‰ ∫…⁄I®… V…“¥……Â EÚ…  x…πEÚ…∫…x… EÚÆ˙  n˘™…… V……™…‰ i……‰ <∫…E‰Ú ={…S……Æ˙ {…Æ˙ C™…… 

|…¶……¥… {…c‰˜M…… ? ∫{…π]ı EÚ“ V…™…‰*  

 What will be the effect on treatment of sewage if microbes are removed 

from it ? Clarify. 2  

21. ®……x…¥… V…“x……‰®… {… Æ˙™……‰V…x…… E‰Ú S……Æ˙ ±…I™…  ±… J…B*  

 Write four goals of Human Genome project.
 

2 

22. {…Æ˙…V…“x…“ (]≈ı…x∫…V…Ë x…EÚ) V…xi…÷+…Â E‰Ú V…Ë ¥…EÚ =i{……n˘…Â E‰Ú =i{……n˘x… ®…Â ™……‰M…n˘…x… EÚ…‰ ∫…®…Z……<™…‰*  

 Explain the role of transgenic animals in production of Biological 

products. 2 

23. +…{…  EÚ∫…“ +∫…xi…÷ ±…i… {… Æ˙i…xj… EÚ…‰ §…S……x…‰ E‰Ú  ±…B C™…… ∫…÷Z……¥… nÂ̆M…‰ ?  

 What suggestions will you give to save an imbalanced ecosystem ? 2 

24. +x…÷E⁄Ú±…“  ¥… EÚÆ˙h… C™…… ΩĘ̈ ? =n˘…Ω˛Æ˙h… ∫… Ω˛i… ∫…®…Z……<™…‰* 

+l…¥…… 

 V…xi…÷+…Â ®…Â {……™…“ V……x…‰¥……±…“ ∫…®…V……i… B¥…Δ i…÷±™…∞¸{…i…… EÚ…‰ =n˘…Ω˛Æ˙h… n‰̆EÚÆ˙ ∫…®…Z……<™…‰* 

 What is adaptive radiation ? Explain with an example. 1 + 1 = 2 

OR 

 Explain homology and analogy in animals by giving example. 2 

 

J…hb˜ - ∫… 

SECTION - C 

25. ß…⁄h…{……‰π… C™…… ΩĘ̈ ?  ¥… ¶…z… |…EÚ…Æ˙ E‰Ú ß…⁄h…{……‰π……Â EÚ…‰ ∫…®…Z……<™…‰* 

 What is endosperm ? Explain various types of endosperms. 1 + 2 = 3  

26. ∫…Ω˛|…¶…… ¥…i……  EÚ∫…‰ EÚΩ˛i…‰ ΩĘ̀ ? =n˘…Ω˛Æ˙h… n‰̆EÚÆ˙ ∫…®…Z……<™…‰* 

 What is co-dominance ? Explain with example. 1 + 2 = 3 
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27. {…÷x…™……ÊM…V… b˜“.Bx….B.  EÚ∫…‰ EÚΩ˛i…‰ ΩÈ˛ ? V…Ë±…  ¥…t÷i… ∫…ΔS……±…x… i…EÚx…“EÚ ∫…‰ b˜“.Bx….B. J…hb˜…Â EÚ… 

{…fil…CEÚÆ˙h… B¥…Δ  ¥…±…M…x… |… GÚ™…… EÚ…‰ ∫…®…Z……<™…‰* 

+l…¥…… 

 +…x…÷¥…Δ ∂…EÚ + ¶…™……Œxj…EÚ“  EÚ∫…‰ EÚΩ˛i…‰ ΩĘ̀ ? {……±…“®…Æ‰˙V…  + ¶… GÚ™…… ({…“.∫…“.+…Æ.˙) u˘…Æ˙… 

±……¶…EÚ…Æ˙“ V…“x… EÚ… |…¥…v…«x…  EÚ∫… |…EÚ…Æ˙  EÚ™…… V……i…… ΩĘ̈ ? ∫…®…Z……<™…‰* 

 What is Recombinant D.N.A. ? Explain the process of separation and 

isolation of D.N.A fragment by gel electrophoresis technique.    

OR 

 What is Genetic engineering ? How is a beneficial gene amplified 

through PCR technique ? Explain. 1 + 2 = 3 

J…hb˜ - n˘ 

SECTION - D 

28. x™…⁄ŒC±…™……‰∫……‰®…  EÚ∫…‰ EÚΩ˛i…‰ ΩÈ˛ ? b˜“.Bx….B. EÚ“  u˘-Æ˙VV…÷EÚ“™… {……‰±…“x™…⁄ŒC±…™……‰]ı…<b˜  EÚ… 

 S…j… §…x……<™…‰ i…l…… <∫…EÚ“ ∫…ΔÆ˙S…x…… EÚ…‰ ∫…®…Z……<™…‰* 

+l…¥…… 

 +…x…÷¥…Δ ∂…EÚ {…n˘…l…« E‰Ú M…÷h…  ±… J…™…‰* +±£‰Úb˜ Ω˛π…Ê i…l…… ®……l……«S…‰V… E‰Ú |…™……‰M… EÚ…‰  S…j… ∫… Ω˛i… 

∫…®…Z……<™…‰  EÚ b˜“˜.Bx….B. BEÚ +…x…÷¥…Δ ∂…EÚ {…n˘…l…« ΩĘ̈* 

 What is nucleosome ? Draw diagram of double stranded polynucleotide 

chain of DNA and explain its structure.   

OR 

 Write properties of genetic material. Explain with a diagram, the 

experiment of Alfred Hershey and Marthachase that DNA is a genetic 

material. 1 + 2 + 1 = 4 
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29. EÚ…‰EÚ… B±EÚ…‰±……<b˜ ™…… EÚ…‰ EÚx…  EÚ∫… {……n˘{… ∫…‰ |……{i…  EÚ™…… V……i…… ΩĘ̈ ? ™…Ω˛ ®……x…¥… ∂…Æ˙“Æ˙ {…Æ˙ 

C™…… |…¶……¥… b˜…±…i…… ΩĘ̈ ? ®……Ï°Ú‘x… EÚ“ Æ˙…∫……™… x…EÚ ∫…ΔÆ˙S…x……  ±… J…™…‰* 

+l…¥…… 

 |… i…Æ˙I……  EÚ∫…‰ EÚΩ˛i…‰ ΩÈ˛ ? ∫… GÚ™… i…l……  x…ŒπGÚ™… |… i…Æ˙I…… ®…Â +xi…Æ˙  ±… J…™…‰* |… i…Æ˙I…“ +h…÷ EÚ“ 

∫…ΔÆ˙S…x…… EÚ…  S…j… §…x……<™…‰* 

 From which plant is cocoa alkaloid or cocaine obtained ? What are its 

effect on the human body ? Write the chemical structure of  morphine. 

OR 

 What is immunity ? Differentiate between active immunity and passive 

immunity. Draw the diagram of structure of antibody molecule. 

   1 + 2 + 1 = 4 

30. J……t  EÚ“ {… Æ˙¶……π……  ±… J…™…‰* ™…Ω˛  EÚi…x…‰ |…EÚ…Æ˙ EÚ“ Ω˛…‰i…“ ΩĘ̈ ? J……t  B¥…Δ J……t 

V……±… ®…Â +xi…Æ˙  ±… J…™…‰* J……t  EÚ… +…Æ‰̇J…  S…j… §…x……<™…‰*  

+l…¥…… 

 {… Æ˙i…xj…  EÚ∫…‰ EÚΩ˛i…‰ ΩÈ˛ ? {… Æ˙i…xj… EÚ“ ∫…ΔÆ˙S…x…… EÚ…‰ ∫…®…Z……<™…‰ i…l…… BEÚ {… Æ˙i…xj… E‰Ú {……‰π…h… ∫i…Æ˙ 

EÚ… +…Æ‰˙J…  S…j… §…x……<™…‰*  

 Define food chain. How many types of food chain are there ? Give 

difference between food chain and food web. Draw a linear diagram of 

food chain. 1 + 1 + 1 + 1 = 4 

OR 

 What is ecosystem ? Explain the structure of ecosystem and draw a 

diagram of trophic levels of an ecosystem. 1 + 2 + 1 = 4 

    


